g SA-TT 2/2015
= SUBJECT : SOCIAL SCIENCE
CLASS : VI
Time : 3 hrs. M.M. : 80

General Instructions :

7]
(i)
(iii)

(iv)
(v}

(vi)
(vii)

(viif

Ql.

Read all the questions carefully and number the
answers according to the questions,

Multiple choice question is to be answered in the
answer sheet,

Write all the answers in a neat and legible
handwriting.

Attempt all the questions.

Write complete sentences for question numbers
2 and 3.

Attach the maps properly to the main sheet.

Questions carrying 3 marls should be answered
within 60-80 words.

Questions carrying 5 marks should be answered
within 80-100 words,

Each question has four options out of which only one is
correct. Choose the correct option and write it in the answer
sheet. (6x1=6)

(1) in Pakistan was the gateway to North West
India in the Mauryan émpire

()  Taxila (b) . Ujjain
(c) Pataliputra (d) Sanchi
(i) Muvendar is a Tamil word meaning
(a)  three kingdoms (b)  three states

(¢) three chiefs (d) none of the ahove
(ifi) Which among the following is a key element of a
demoeratic government?

(a)  people’s participation
(b)  resolution of conflicts

(1)

g2.

Q3.

(c)  equality and justice

(d) all of the above o
(iv) Panchayat President is also known as
(a) Panch (b)  Ward member
(c) Sarpanch (d)  None of the above
(v}  The Deccan Plateau is located in
(a) Kenya (b) India
() Australia (d Russia
(vi) The Southern most Himalayas are knownas
(a)  Shiwaliks (b)  Himachal
(¢) Himadri (d) Aravalli
Correct the incorrect statements: (6x1=6)

(a) Buddhacharita, the biography of Lord Buddha was
composed by Harishena.

(b)  Kalinga was the ancient name of Tamil Nadu.

(e)  The work of the Gram Panchayat has to be approved
by the Municipal Corporation.

() Cities with a population of 10 lakh or above have
Municipal Councils.

(¢)  The river Godavari falls into the Indian Ocean.

()  Bihar is the smallest state in India in terms of area.

Answer the following questions in one senience each:

(8x1=8)

(a) Who was Chanakya?

(b) What do you understand by the term pilgrims?

(c) Who is a Municipal Councillor?

(@)  Listany two main sources of income of the Municipal
Corporation.

(¢)  Name the organisation which led the struggle against
apartheid in South Africa.

)  What are glaciers?

“mv




Q5.

Q8.

Q7.

Q9.

Q10.

Ql11.
Q12.

Q13.

Q14.

Q1b.

Q16.

017,

o]

Q1

Q4.

(@ Which twe major rivers fall into the Arabian Sea?
h)  Define Tsunami.
How did the war of Kalinga change Ashoka's attitude

towards war? 3)
What do you understand by the term Bhakti? What were
its main features? (1+2=3)

Give a brief deseription of Samudragupia’s prashastl. (3
‘As a responsible citizen, it is our duly to keep our city
clean.’ Discuss. (3)
What are the functions of the Gram Panchayat? (3

Why do you think il is important for the Municipal
Corporation (o spend more money on slum localities? (3)

What are plains? Why are plains thickly populated regions
of the world? (1+2=3)

Distinguish between Western and Eastern Ghats.  (3)

How are the humans responsible for disturbing the balance
of nature? 3

(a) Describe the Silk Route.
(b) Why did the kings want to control the Silk Route?

(2+3=5)
Whal is 'Dhamma’? List the main prineiples of Ashoka’'s
Dhamma. (1+4=5)

Explain the various levels of the Panchayali Raj System. ()
(a) What are the different types of Mountains?
(b}  Explain any one type of Mountain with diagram.

(1+4=5)
Define Peninsula. Give a brief description of the Peninsular
plateau of India. (1+4=5)

Attempt the following maps:

{a) ©On the provided political map of India, name and
mark the following (1x4=4)

()  Capital City of Mauryan Empire
(i) Highest plateau of the World

(2

(b)

(ii) Centre for Buddhist learning
(iv) The place where Ashoka fought his las. _sar

On the provided political map of the World, name
and mark the following : (1x4=4)

)  Avolcanic mountain in Africa

(i)  Country where river Yangtze flows

(iif) Country where Apartheid was practiced
(iv) A young fold Mountain range in Asia




SA-IL 2/2015
a SUBJECT : INTEGRATED SCIENCE
CLASS : VI
Time : 2'2 Hrs. - M.M.: 80
General Instructions :
(i)}  All questions are compulsory.
(i) Mention correct question number and part for each
answer.
{iii) Attempt the questions in the same sequence as given
in question paper. :
PART-A
@1. Answer the following in one word or one sentence each:

[1x15=15)

(a) Redworms do not have teeth. Name the structure
which help them to grind their food.

(b} Iam coloured and formed due to reflection. Who am
7

() Which two methods of separation are used in the
kitchen to clean pulses before cooking?

(d Mountain goat has strong hooves. Give reason.

(e)  Onbringing a magnet near iron-filings, Shyam found
that they pot atiracted towards it. Draw a diagram
to show the way iron-filings stick to the magnet.

(i  Backbone is a long and hard structure made up of
many small bones called vertebrae. Name two
organisms which possess backbone.

(8) XIs the component of air important for water cycle
in nature. Identify X.

() Name the only movable bone present in the skull.

)  Identify the method of
separalion shown in
the diagram given
alongside and give one
example where this
method is used.

n

Q2.

Q3.

0

(k)

)

(m)

(n)

(0)

Name one plant each which reproduce by the method
given below:

(1) bud (i) stem cutting
Rohan prepared a magnes stick and tried to pick up
the objects given below. Which of the following
objects would he be able to pick?

pencil sharpener, comb, plastic tumbler, iron-nail
What do you understand by a streamlined body
shape? Name an aguatic animal which does not have
streamlined body shape.

Name a shape which gives a circular shadow if held
in one way and a rectangular shadow if held in
another way.

On heating water in a beaker some tiny bubbles were
observed on the inside of the beaker. What does the
given activity indicate?

Factories often have long chimneys. Justify.

Fill in the blanks: (1x5=5)

(a)
®)
@]

(d)
(€)

Salt is obtained from sea water by the process of

The plants and animals that live on land are said to
live in habitat.

Is the method used to separate grains from

stalks.
Like poles of a magnet each other.
The layer of air around the earth is known as

Give a technical term for the following: {1x5=5)

(a)
(b)
(c)

(d)
(e)

The bony framework which gives shape to our body.
The surroundings where organisms live.

The process by which living organisms get rid of their
wastes.

Low lying open area used for dumping waste,

The process of conversion of water vapour into its
liquid form on cooling.

(2)
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PART-B

Answer briefly: (2x10=20)

(@ Identify the figure
given alongside and
wrile il's any two uses.

(b)  Municipalities provice
two separate dustbins
for collecting garbage.
Name the two types of
bins and mention the
type of garbage thrown
in them,

[e)  Define shadow. What are the conditions required for
shadow lormation?

(d)  Write the imporiance of the highlighted features in
a fish,

X and Y are two bones to which the two ends of the

ribs are attached to form a ribcage. Identify X and Y.

Which two organs of your body are proiected by the
ribcage?

)  Rohan wants to convert an iron-nail into a magnet,
What precautions should he take while making a
magnet?

(8@ Define stimuli. Identify the stimuli in the examples
given below:

)  Wwild animals run away when bright light is
flashed towards them.
()  Leaves of touch-me not plant fold on touching.

(h)  Differentiate between hiotic and abiotic components
£iving examples.

3

Q5.

({) Given helow is a part of the skeleton which encloses
the portion of your body below the stomach. Iden{
it and explain the type of joint present in this
structure.

()  Priyanka and her mother visited her sick uncle in
the hospital. While talking, her uncle developed
breathing problem. Priyanka immediately called the
doctor, who arranged oxygen for the patient.

()  Why was oxygen given to the patient?
(i) Which value is shown by Priyanka?

Answer the following : (3x5=15)

(a) Shobit was asked to make a solution by dissolving
sugar in water. After sometime sugar started settling
down.

(i) Identify the type of solution obtained by him
and define it.

(i) Suggest two ways by which he could add more
sugar to the water.

{b)  Mention the parts of your arm where the [ollowing
joints are present:

()  Hinge joint
(i) Ball and Socket joint
Define pivotal joint giving an example,

(¢) Given below are some adaptations found in plants
and animals. Identify the organism to which they
belong and write their use:

(i) leaves are either ahsent, very small or spiny
(i) cone-shaped trees with sloping branches

(iii) - strong back legs

4




—

(dy How would you use a magnetic compass Lo find

direction’?

Ronit has a mixture of fruit julce and solid particles

of pulp:
(1) Which method should he use to separale the

above two components?

Identify the residue and the filtr:
above mixture.

(i) Differentiate between residue and filtrate.

Q6. Draw neat and well-labelled diagrams of. (4+3+3)

(a) Composition of Air
(b) Pin-hole camera

(c) Filtration
(5x2=10)

Q7. Answer the following questions:
(a) Agardenerina park collects the leaf litter and burns

it.

() Didhedo the right thing? Give reason.

(i) Asa student which method would you suggest
him to dispose off the leaf litter using

redworms?
autions which he should

(iif) Write any three prec
take while conducting the above method.
nd answer the

Look at the figure given below a
questions that follow:

(i) ate from the

()]

w €))
() Water does not enter In the bottle in fig (1).
Give reason.
What do the bubbles in fig (2) {ndicate?

What does the above activity indicate?
Write any two uses of air.
15)

(i)
(idi)
(iv)

SA-TI
i 2/2015
CT : MATHEMATICS
CLASS :
Time : 3 hrs. s
General Instructions : = i
(i)  All questions are compulsory

(i)
(iii)
(iv)
)

i)
Ql.
Q2.

Q3.
Q4.

Q5.

Q6.

Q7.

Qs.

Q9.

10.
Q11
Q12

Read all questions very carefully

Questions I to 10 carry 1 mark m.no__.

Questions 11 to 18 carry 2 marks mE.u___

Questions 19 to 28 carry 3 marks mnnz_

Questions 29 to 34 carry 4 marks mnaz.

Represent 1.7 on the number line, ;

Mnﬁ:_ Ms:mknamao: for the following statement:
itiplied by 2 , ;

Write the mﬂanwmmw_—.._ Mm Hﬁummﬂwwu_:mnnma sl

Find the perime
ter of the tria ;
Both 76 Al Tocid angle with the sides measuring

Wi
rite the given number in decimal form:
100044+ 8 4 2
10 100
Indicate the following statement as integer :
A deposit of rupees 500, .
The side of a 1 ‘
egular pentagon i

i e gon is denoted b

perimeter of the pentagon using the qm:w....uﬂ. wa_.mmm
24 O3
490" 5

Fill in the blank;

Name the trian,
gle which has onl
ly oe line of

Write the greatest negative integer. e
M:%Emm 16kg 250¢ into kg using decimals

e area of i
s, _oqom rectangular poster is 3080 sq.cm and i

m. What is the width of the poster? H

m




Q13.

Qgl4.

Q15.

Q1l6.

Q17

Q18.

Q19.

Using the number line write the integer which is 4 less

than (-2).

If Rita's present age is x years:

(a) What will be her age 6 years [rom now?

(b) If her grandfather is 6 times her age. Whal is her
grandfather's age?

Mr. Kunal earns 780,000 in a month and saves ¥20,000

per month. Find the ratio of the money he saves to the

money he spends.

(a) Add 60.05 to 9.5

(b) Subtract 11.7 from 13.2

Kavya bought 25 blankets for ¥475 and donated them Lo

an orphanage. Raj hought 30 blankets for ¥450 and

donated them to another orphanage on Children’s Day.

Find out who got the blankets at a cheaper price.

Write the number of lines of mmBEQJ. which you can draw
for the following figures:

{a): +:Circle (b) Square

In peak summer, the weekly sale of fridges in a shop is
given for a particular week. Study the pictograph and
answer the questions below it.

Scale : [] = 10 fridges
Days Number of fridges sold
Monday

Tuesday
Wednesday
Thursday
Friday
Saturday
Sunday

E]iateif

O
BN L

(a) On which day maximum number of fridges were
sold? How many are they?

O30 O CkE]
EEr e
[F0:0 o

™

Q20.
Q21.

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

Q28.

Q29.

(b)  On which two days same number of [ridges were
sold? How many are they?

()  How many more fridges were sold on Saturday than
on Friday?

Divide 2120 between Rohan and Kamal in the ratio 3:2.

The cost of a dinner set is 2475 rupees and 95 paise and

the cost of a tea set is 725 rupees and 65 paise. Find the

total cost (in rupees) of both the items.

One side of a square plot is 300m. Find its area. Also, find

the cost of cementing it if the rate of cementing is ¥5 per

square metre.

Draw a line segment pr of length 8cm and construct its

perpendicular bisector. Also write the steps of construction.

Fill in the blanks with >, < or = sign.

@ 1=E) e -

() [-10)-(-11) (<10) + 11

Sandeep pays 25200 as the rent for 4 months for a room

in a guest house. Find out the rent he has to pay for

1 year.

A medical test was conducted in a class. The following

figures Indicate the weight (in kg) of 18 students in the

class. Organise the given data using tally marks.

40,48 ,42,45,42,48,45.46 .40

45 47 ,45,48,42,45,40, 46, 42

Are the ratios 15em : 20cm and 10sec : 3 minutes in

proportion?

Find the rule which gives the number of matchsticks

required to make the following matchstick patterns. Use

a variable to write the rule.

(a) A pattern of letter T as I_.

(b) A pattern of letter Zas Z

(¢ A pattern of letter F as | —

Draw an angle of 140° (using protractor) and divide it into

four equal parts (using ruler and compasses).

k1]




Q30. Mrs. Sinha wants to cover the floor of her kitchen with
tiles. The length and the breadth of the kitchen are-.m
and 3m respectively. The length and breadth of each tile
is 20cm and 15cm respectively. Find the number of tiles
required to cover the floor.

Q31. Mahesh covered a distance of 500km by train. by bus and
by car. He travelled 275.25km by train and 75.60km by
bus. Find the distance travelled by the car.

32. Pick out the solution from the values given in the bracket
next to the equation. Show that the other values do not
satisfy the equation.

r-8=0(=8,0,8, 1)
Q33. (a) Solve: (-402) + (529) - (-310) + 200.
(b) Write 0.066 as a fraction in lowest form.
Q34. The number of Seience magazines sold by a shopkeeper
on 4 consecutive days is shown below:

Days Sunday | Monday | Tuesday | Wednesday
Number of 50 65 70 35
magazines sold

(a) Drawabargraph to represent the above information
choosing the scale of your choice.

(b) What is the importance of reading Sclence
magazines?

(a4
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= CLASS : VI
Time : 3 hrs MM : 80
General Instructions :
i)  Read the questions carefully. ;
ii) Number the answers as given in the question paper.
ili) Write in a neat and clear handwriting.
iv) Write the answers in complete sentences,

SECTION-A (READING)

Q1. Read the passage given below and answer the questions that follow : (7)

Alandovwmer was gifted a roasted chicken and a bottle of fruit juice by a farmer. The
landowner called his servant and told him to take the farmer’s gift to his house,
Knowing how crafty the servant was, he explained to him that under the cloth there
was a live bird and also a hottle of poison. He advised him not to uncover the gift on
the way, for If he did so. the bird would fly away and the smell of the poison would be
enough to kill him. :
The servant, knowing his master too well, found a cosy corner, not only ate the
roasted chicken but also drank the deliclous juice in the bottle to the last drop.
When at lunch time, the landowner went to his house, he asked his wife to bring
him food. His wife asked him to wait as the food was not yet cooked. The landowner,
thinking of the farmer’s gift, said to his wife that the roasted chicken and the bottle -
of fruit juice which he had sent through his servant would be good enough. He was
aghast and angry when his wife told him that she had not seen the servant since
morning.
Without losing a minute, the landowner ran back to his place of work, and there he
found his servant fast asleep. He shouted at the servant to wake him up. Then he
angrily enquired about the farmer’s gift.
The servant said, “Of master, on the way to your house a strong wind blew away the
cloth which covered the bird and it flew off. 1 was afraid you would punish me. so [
drank the poison which was in the bottle”. “And now,” the servant continued, “1 am
lying down here waiting for death to come™.
(a) What did the farmer gift to the landowner? (1)
{h) What instructions did the landowner give to his servant? 2)
(¢) What excuse did the servant give for not following his master's instructions?
(1)
(A Complete the following sentences: : (2x1=2)
i  The landowner was angry when his wife told him that
(i) The landowner ran back to his place of weork and found

(A-1)
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(€]  Find the words from the passage which mean the opposite of the following:
[i) awake - (2xbe=1)
@) reward - %

Read the poem given below and answer the questions that follow: (6)

Population has increased,

Trees have been cut down!

Where should [ make

My nest in this town?

We the weavers have our

Colony on a tree,

The builders visited us,

To build theirs, you seel

Our friends spend their nights

In railway platform sheds

No place for us to live

Everywhere the man treads.

Some development authority or house board,

Should also allot us land

Where we can live in peace

Away from the man's ‘Cruel Hand'.

(a) Which bird is reciting the poem? (1)

(h) Why is it worried? (2

() Where do the troubled birds spend their nights? (1)

[d Why is the man's hand called ‘cruel? (1)

Q2

{e)  Find the words [rom the poem which mean the same as the following: (2xV=1)
) o step -

(i) hard hearted -
SECTION-B (WRITING)

Q3. Read the given telephonic conversation and wrlte down the message in about 60
words. (5)

Ajay : Hello!

Mr. Atul Arora : Hello! This is Atul Arora from Ranbaxy Medical Lab. May I speak
to Mr. Raj Verma?

Ajay . Sorry. Dad is not at home. May I take the message for him?

Mr. Atul Arora : Please inform him that his medical examination would be

conducied at 10 am tomorrow, so he must have his dinner by
8 pm tonight.

Ajay : OK, I'l inform him.

(A-2)

Mr. Atul Arora

Please also remind him to carry his previous reports and
prescriptions.

= Ajay : Sure sir.
Mr. Atul Arora : Thanks.
Q4. Look at the given picture carefully and write a paragraph on the topic ‘Grow More
Trees'. 15)]

Q5.

Q6.

Q7.

Q9.

Make an attractive poster on the topic ‘Let's Make Our City Pollution Free'. 4)
SECTION-C (GRAMMAR)

Join each pair of sentences by using suitable conjunctions: (ax1=2)

(a] A new canal was dug. The farmers could gel water for their fields.

(b) The driver applied the brakes. The frain did not stop.

Fill in the blanks with correct degrees of adjectives given in the brackets: (4x4=2)

building of the world. (tall)

than silver. (expensive)

() Who was the king of the Mauryan Dynasty? (powerful)

{d) These caves are really very . (old)

Complete the given sentences with the help of suitable relative pronouns: (2x1=2)

{a) The Principel wants to meet the student wrote such an excellent
essay.

() 1 felt sorry for the old man

Fill in the blanks with suitable articles:

{a) Maylhave cgg and

(a) [wanttosee the
(o) Goldis

wife died yesterday.

(4x12=2)
slice of bread in the breakfast?

(a-8)




Ql10.

Q11

Q12.

Q13.

Ql4.

Q15.

Q16.

(b}

Indian Express is one of _most popular newspapers of
India. L
Complete the given dialogue with the simple past tense of the verbs: (4xYa=2)
Suruchi : Ma'am, please tell us aboul Raja Ram Mohan Roy.
Teacher : Raja Ram Mohan Roy (be) a social reformer. He

(beleng) to a well-to-do family. He (teach) pecple to improve

their way of life and ___[earn) their respect and apprectation.
Fill in the blanks with suitable prepositions (4x4=2)
(a) The mangoes were cul a sharp knife.
{b) What is the time your watch?
() The stranger is knocking the door.
(d) The train is passing the tunnel.

Rewrite the following sentences by changing them from active to passive voice:
(2x1=2)

(a)  The police searched all the houses.

(v Charles Dickens has writien many famous books.

Replace the underlined adjective phrases with adjectives and rewrite the sentences:

(2x1=2)

(a) My granny looked in all places for her lost spectacles.

{h) My mother's new diamond set is costing a lot.

Fill in the blanks with the correct verbs in the given sentences: (4x12=2)

(@  The boy who is wearing blue pants my cousin. (is/are)

(h)  All the players, with the captain, present in the ground. (was/were)

(c) Gaurav politely with the strangers. {behave/behaves)

(d) Thesepeople {he festival of Diwali with great enthusiasm. [celebrate/
celebrates)

Fill in the blanks with suitable adverbs as directed in the brackets: (2x1=2)
bhefore writing the reply. (how)
(b) The cultural programme s doing to begin
SECTION-D (LITERATURE)

Read the extracts given below and answer the questions that follow:

{A) “Please, mighty king, spare his life. My friend Pythias is a stranger here.” (3x1=23)
(@) Who is the speaker of the above lines?
(b) Why was the speaker's friend captured?
(¢ Why did the spealer ask the king to set him free?

(B) * “You are a teacher for all seasons. And you have my gratitude.” (3x1=3)
(a) Name the poem and the poet of the above lines.

(a)  You must read the message

. (when)

(A-4)

Q21. Answer the given question in 70-80 words:

(h) Who has been addressed to if1 the above lines by the poet?
) Why is the poet full of gratitude?

Q17. Answer the given questions in 30-40 words each : (2x2=4)

(a) Why didn’t Sadig want the nawab to get angry?
(b) The friendship of Damon and Pythias taught a lesson (o Dionysus. What lesson
did he learn?

Q18. Answer the following questions in 30-40 words: (2x2=4)

(@) How can we say thal a man of life upright is always happy and at peace?
(b) The poem ‘A Teacher for All Seasons’ is a child's delightful {ribute to her teacher.
Elaborate.

Q19. Answer the given question in 80-100 words each: ()

In the lesson ‘Dal Delight’ it was Sadiq who helped his father, Qadir, in earning the
reward. Give reasons.

OR
In what ways did the Swallow help the Happy Prince to remove the misery of the
people of his city?

(20. Answer the given guestion 30-40 words: (2)

Where did the family build the house in {he lesson “Working Together'? What was
the contribution of the various members of the family in building it?

3t 4
The presence of mind of the five Chinese brothers helped them to save their lives.
Elaborate.

OR

George was made the incharge of the stage for the show in the lesson ‘Poor George’.
Why did Mrs Gema give him this responsibility and how did George accomplish it?

Q22. Answer the following question in 30-40 words: (3)

What happened to Nancy after che returned from London Bridge?

@23. Answer the following guestion in 80-100 words: (5)

What was mentioned in the will and the letter written by Oliver's father?
OR
What happened to Fagin? Why did Mr. Brownlow take Oliver to the prison?

(A-D)




SA-II 2/2015
SUBJECT : COMPUTER SCIENCE

Class : VI
Time : 2 Hrs, M.M.: 50
Q1. Choose the correct answer and write it in answer
sheet; (6x1=6)
(i) The MS-Windows feature that allows us to peer past all
open windows straight to the Windows desktop:
(a)  Jump List (b)  Aero Peek
(¢) Windows Media Centre  (d) Disk Cleanup
(i)  Menu under which ‘Sound Recorder’ oplion is available:
(@ File (b) Exit
(¢) Home ([d)  Accessories
(i)  Copying data from a CD to a computer is ealled:
(a) Burning a CD (b)  Ripping a CD
[c)  Moving data {d)  Duplicating data
[iv)  Sign added at the end of a string variable:
@ $ b &
) % (d) 2
(vl  Founder of WWW:
(a) Bill Gates (b)  Tim Berners Lee
(c)  Larry Page (d) Steve Jahs
(vi) In India, Internet service started on:
(a)  15th Aug. 1995 (b)  15th Aug, 1985
(c)  15th Aug, 1980 (@  15th Aug, 2005
Q2. Give one word answer for the following statements: (8x1=8)

(a]  Latest version of Windows software

(b} The value which does not change during the
execution of the program

(c)  Extension of a QBasic program file

[d)  QBasic operator used to display the non-equality
between two operands

() Write full form of BASIC

(9]

Q3.

Q4.

Q5.

Q6.

Q7.

()  Name given to the first page of any website

(@ A device that connects a computer with telephe_
lines so that computer signals can travel through it

()  Name any Internet Service Provider (ISP)

Answer the following questions: (5x3=15)

(a) How will you display two windows side by side in
Windows 77

(b)  Ditferentiate between numeric and alphanumeric
constants.

(¢} Detfine the term ‘Hierarchy of operations', Write the’
hierarchical order of the arithmetic operators in
(QBasic.

(d) What is meant by disk cleanup?

(e) What is a ‘Search Engine? Give example.

Write the full form of the following: (3x1=3)
& wWww (b) URL

[c) INTERNET

Explain the following: (4x2=8)
(a) Windows Media Player (b)) E-Commerce

(¢)  Video Conferencing (d)  Web Address
Answer Lhe following: (4x2=8)

(a) What do you understand by burning a CD?

()  What is a variable? Name the different types of
variables.

() What are the different ways to run a QBasic
program?

(d)  Name the persons who developed BASIC.

(a) Sohan has made a presentation on “World Peace”
and saved it on his computer. But he forgot the
location where he had saved if. Suggest him the hest
way to search the file. 1)

(b)  Raman wants to share his ideas related to a project
with his friends. Name any one social networking
site that he can use for this, (1)

(2
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SA-II 2/2015
= SUBJECT : FRENCH
CLASS : VI _
Time : 3 Hrs. M.M.: BO

General Instructions :
(i Read all the questions carefully.
(i) Number the answers as given in the guestion
paper.
{iii) Write in a neat and clear handwriting.
({iv) Write the answers in complete sentences.
Section-A (Compréhension Ecrite)
Al. Lisez et répondez :
Mare décrit sa chambre:
Ma chambre est belle et confortable. Ma chambre est
au deuxiéme étage. Dans ma chambre, il y a deux
lits, une table, une chaise et un ordinateur. Iy a une
lampe & cté du lit et il y a des tableaux contre le
mur. Je mets mes livres, mes cahiers sur la table. A
coté de ma chambre, il y a une salle de bains, Ma
chambre est assez grande. J'étudie dans ma chambre
et Je joue de la guitare dans ma chambre. De ma
chambre, Je peux voir le jardin et le garage. J'aime
ma chambre.
Al.1 Répondez: (2x1=2)
1. Comment est la chambre de Marc?
2. Qulestce quily a dans la chambre?
Al.2 Dites vrai ou faux: (3x1=3)
1. Lachambre est belle et conforiable.
2. Dans la chambre, il v a trois lits.
3.  Marc mets les livres et les cahiers sur la chaise.

(1

Bl

A1.3 Cochez Ia bonne réponse: ' (3x1=3)
1. Marc joue: .
(@) de la guitare (b)  du piano
(¢} au football
2. La chambre de Mare est:

(a) petite [b) assez grande
[e) grande

3. Lachambre est au:
(a) premier étage (b} troisiéme étage

() deuxiéme étage
A2, Lisez

Au magasin

oﬂ.o:sn V& au magasin avec son amic Sophie pour
_m_n eter _mm vetements pour la féte. Elles entrent dans
€ magasin loin de la maison. Les vétements de fille
sont au troisieme étage, :

La vendeuse : Bonjour! Qu'est-ce gue vous voulez?

Caroline i Je veux une jolic robe,
La vendeuse: Quelle Couleur préféres-tu?
. Caroline:  : Je veux une Jolie robe bleue.
Sophie : Bleue, ce n'est pas bon pour toi, Tu
peux prendre la rouge. Cest jolie.
Caroline  : Daceord.
Sophie i Avec la robe, Est-ce que tu veux des
chaussures ou des hottes?
Caroline . Je préfére les chaussures,
Sophie ¢ Tu aimes ces chaussures noires?
Caroline ¢ Oui, elles sont jolies.
Sophie ¢ Clest bon, Nous achetons cette robe

rouge et ces chaussures noires.

(2




A2.1 Répondez aux gueslions:

2
2.

A2.2 Dites vrai ou faux:

1.
2.
3.

A2.3 Cochez la bonne réponse:

L:

(2x1=2)
Qurest-ce que Caroline achéte pour la féte?
@uelle couleur préfere Caroline?
(3x1=8)
Le magasin est pres de la maison.
Caroline va au magasin avec son amie Sophie.
Caroline achéte des chaussures.
(2x1=2)
Les vétements de fille sont au:
(a) premier etage (b) firoisiéme étage
[¢) deuxiéme étage
Caroline achéte des chaussures:
(@) bleues (b) roses
(e) noires

Section-B (Expression Ecrite)

Bl. Décrivez votre maisor. Déssinez aussl. 15)}
B2. Qulest-ce que les francals mangent au petit-déjeuner

et au diner?
B3. Décrivez votre école.

5
(5)

B4, Berivez cinq vetements de femme et d'homme.  (5)

Cl. Mettez les verbes au présent:

1,

)

S

Section-C (Grammaire)

(5x1=5)
Je ___(comprendre) l'anglais.

Nous {vouloir) aller au magasin.
[pouvoir) danser.

(boire) du lait.

(voir) un chien sous la table.

1l

Elle
Tu

(3)

a2;

C3.
C4

6.

CB.

C

Complétez avee Tadjectif possessif: (5x1=5)
(mon, ma, mes .......... ete) -

1. Jhabitedans ____ maison.

2. Il parle de vovages.

3. Vous finissez lecons.

4.  Elle dit borijour a professeur.

5. Tuparles a parents.

Conjuguez le verbe ‘Sortir” (a4 I' affirmatif). (3)

Ecrivez le contraire: (3x1=3)

1. J'habite prés de l'école.

2.  Les cahiers sont sous la chaise.

3.  La voiture est derriére la maison.

Meltez ces phrases a la forme negative: (2x1=2)

1. Elle aime la pomme.

2. Marie a une gomme.

Complétez avec l'article partitif: : (4x15=2)
(du, de la, des, de 1)

Pierre mange

11 veut lait.

Nous prenons salade.

J'achéte fruits

Complétez avec l'article contracté: (4x¥4=2)

légumes.

FRDRRG b3 v

(ala, au. aux. al. a)
Je donne des glaces ____ filles.
Ilparle garcon.

Nous disons bonjour grand-mére.
Le professeur dit une histoire enfant.

W N

(4}

s




CB. Complétez avec l'article contracte: (4x1%4=2)
(du, de la, de I', des, de. d)

1. C'estlarobe fille.
2. Lasoeur Caroline est professeur.
3. Voila la maison garcon.
4. Ou sont les manteaux femmes.
C9. Trouvez la question : (2x1=2)

1. Ce sont mes amis.
2.  Elle s'appelle Catherine.
C10. Remettez en ordre les mots des phrases: (2x1=2)
1. met / chemise / Manuel / sa .
2. n'/pas/ stupide / enfant / est / Mon .
Cl11. Chassez l'intrus : (2x1=2)
1. La pomme, L'orange, La banane, Le café.
2. mentir , boire , sentir , partir .
Section-D (La culture et la civilization)
D1. Répondez : (10x1=10)
1. Qu'est-ce que Catherine achéte pour la soirée?
Quels sont les meubles du salon?
Ou est le terrain de sport?
Est-ce qu' Aneesh aime les crépes?
Qu'est-ce que Catherine veut avec la Jupe? (un
gilet ou un pull)
Qu'est-ce que les enfants boivent?
Comment est I'école de Manuel?
Qui viert le soir a la maison de Catherine?

Qu'est-ce que Mme Lavigne prépare?

Gk LK

© XN

10. Combien de chambres y a-t-il dans la maison
de Manuel?

D2. Cochez la bonne réponse: i (6xYe=3)
1. Lachambre de Manuel est: =
(a) grande (b) assez grande
(¢) petite

2. Aneesh déteste:
(@) Lejusde fruits (b) Lelait

(c) Lecoca
3. Catherine préfére la couleur:
(a) verte (b) Dbleue
(c) rouge
4. Manuel adore le cours de:
(a) danse (b) musique
(c) francais
5. Quest-ce que Catherine veut:
(a) une robe (b) un manteau

[c) unejupe
6. Les amis de Manuel viennent & la maison pour
le: : )
(a) diner (b) gotter
(c) degjeuner :
s =
D3. Dites vrai ou faux: (4xve=2)
1. Ty aune carte dans la classe de Manuel.
5 Les vétements de fille sont au troisiéme étage.
3. L'école de Manuel est petit.
4, Manuel maide pas sa mére dans la cuisine

(G}
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